1 ke et 1o 5 | 0 0 0 0 110 2 12 2
2 o 67 | 201 0 0 268 0 0 0
3 : 0 302 0 0 302 0 0 0
4 % | 128 | o 0 o | 126 | 3 2 8
5 5

o | 48 0 0 0 48 3 2 1
6 M 12 0 0 0 12 0 0 0

10

8
7 3 53 0 0 0 53 0 1 0
8 8 %0 0 0 0 % 0 0 0

11
9 aka Metro 8 | 172 0 174 | 205 | s51 3 119 18
10 Gsaka Metro 3 180 0 0 0 180 5 10 9
1 saka Metro 13 | 140 0 0 0 140 1 8 6
12 saka Metro 12 | 208 0 0 0 298 3 4 2
13 aka Metro 5 | 644 0 0 0 644 | 15 126 43
14 3 aka Metro 5 | 774 0 0 285 | 1,050 | 14 140 53
15 6 70 0 0 0 70 0 0 0
16 4 0 0 0 4 0 0 0
17 Gsaka Metro 2 167 0 0 0 167 2 1 4
18 2 Csaka Mt ro 5 [ 1400 o 0 0o |1400| 10 53 75

4

19 (baka hetro S| 14| o 0 o | 1 | 4 14 15
20 (aka Metro 9 240 0 0 0 240 8 14 6
21 ek tetro e | 20| o 0 o | 200 | s 5 6
22 (aka Metro 8 100 0 0 0 100 3 3 3
23 | o 0 0 0 170 0 0 0
24 2| 22 0 0 0 252 7 4 5
25 4 9 0 0 0 %0 4 2 3




2 . 50 0 0 0 50 0 1 1
27 12| 0 0 0 0 130 2 1 3
28 Al s 0 0 0 125 3 1 5
29 saka Mt 10 10 | 310 0 0 0 310 6 5 14
30 o et o b | o 0 0 0 ) 0 0 13
31 (Gsaka Metro 3 65 0 0 0 65 2 4 0
32 6 5| 262 0 0 0 262 8 13 16
33 (saka Metro 6 405 0 0 0 405 6 26 16
34 Gsaka Metro 9 348 0 0 0 348 2 11 15
35 saka Metro o | s62 0 0 0 562 6 19 30
36 (Gsaka Metro 5 237 0 0 0 237 6 4 5
37 Bl we | o 0 0 176 7 6 7
38 (aka tecro 5 | s 0 0 0 114 0 0 0
39 % | 193 0 0 0 193 0 0 0
40 2 Ts | 53 0 0 0 535 9 16 26
a1 %, 0 0 80 0 80 0 0 0
a2 5 36 0 0 0 36 2 0 3
43 129 0 0 0 129 0 0 0
%7 ) csaka tetro 8 | 128 | o 0 0 128 | 2 0 2
45 saka tetro o] es | o 0 0 33 | 7 8 5
46 ek Mt 1o A 0 32 0 0 32 0 0 0
47 ek et 8| 128 0 0 0 128 2 0 3
48 | e 0 0 0 @ 2 6 19
49 P I 0 0 0 39 1 0 1
50 saka Metro 7 | 212 0 0 0 212 2 24 1
51 saka Metro s | 428 0 0 0 48 | 23 24 27
52 Gsaka Netro s | s62 0 0 170 732 6 67 45
53 saka netro u | 300 0 0 0 300 0 0 0
54 o 341 0 0 0 341 4 1 0
55 saka tetro 7| 120 0 0 0 120 2 13 12
56 6 80 0 0 0 80 0 0 0




57

(Gsaka Metro

12,549

490

13, 998

203

770




